Solve inequalities in one variable and represent the solution set on a number line

	Has both positive and negative solutions


	Has less than 3 common integer solutions


	Infinite number of common integer solutions



	No common integer solutions


	No common solutions


	Has greater than 3 common integer solutions



	
	Common solutions are all positive 
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5(x-2) > 3(x+4)


and


3+5x < 11x








2x+1 < 9


and


3x-5 > 16








3x+2 < 4(1-2x)


and


3(x+4) > 9








5(x+2) > 6(x+2)


and


x < 4








2(x-4) < 7(x-3)


and


3x+1 < 6








2-4x > -3x-5


and


5x+3 > 3x-1








5(x-1) < 3


and


6x+2 ≥ 3x-1








3(x-2) > 2(2-x)


and


5(x-3) ≤ 20








2(3+3x) < 11


and


3x+7 > 2+6x








3x+2 < 4(1-2x)


and


3(x+4) > 9








5(x-1) ≤ 5


and


6x+2 > 3x-1








5(x-2) > 3(x+4)


and


3+5x < 11x








2(3+3x) < 11


and


3x+7 > 2+6x








2x+1 < 9


and


3x-5 > 10








2(x-4) < 7(x-3)


and


3x+1 < 6








5(x+2) > 6(x+2)


and


x < 4








3(x-2) > 2(2-x)


and


5(x-3) ≤ 20








2-4x > -3x-5


and


5x+3 > 3x-1
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